SCHOOL BASED ASSESSMENT 2022
MODEL PAPER
GRADE 8
MATHEMATICS PART - B (Subjective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions for students :
1. Read carefully and attempt all questions.
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2. A question can consist of one or more parts.
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3. Use black/blue ink for writing answers in separate answer sheet. Use of lead pencil is not allowed.
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I Total Marks: 52 I Part-B (Constructed Response Questions) I Total Time: 1 Hour 45 Minutes I

Question No: 1
I/Jlr
a)ifA=1{1,2,4,5,6},B=1{3,4,5,6}andC = {6, 7, 8, 9, 10} then show that:
AN(BNC) = (ANB)NC (5marks)
SufetiunC =1{6,7,8,9, 10}sB=1{3, 4,5, 6LA={1,2, 4,5, 6}.56
A#HAN(BNC) = (ANB)NC
b)If A= {10,11,14,15} and B = {11, 13, 15, 17} then verify the commutative law of union. (5 marks)
(F5) S ey § ot £ 29 wB = {11,13,15, 17} A = {10, 11,14, 15} 7 b

Question No: 2
2/:‘; Jlr
a ) Arectangular field has an area 1682 square meter. Its length is twice as long as its width. Find its length and width. (5 marks)
(/ 5)..@/”)1’” (}U’}Z, 3 (}LJ Ju’l - e L}U’}?: :(}U d//! _‘L}f d/ 1682 -3 KJWVQ (a

b ) Evaluate and express the answer in decimal number system. (5 marks)
75 + (1231), + (1010),
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75 + (1231), + (1010),

Question No: 3
3 4 v
a ) For what value of ‘k’ the polynomial 23 + 422 — 5z + k becomes exactly divisible by  — 2? (4 marks)
Fosde S vy i3 + 4z — b+ kd, P — 26 2L L= Sk

b ) Ayesha bought 5 books and 2 pencils for Rs 170 whereas Usman bought 2 such books and 1 pencil for Rs 70. Find the price of
one pencil and one book. (8 marks)
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Question No: 4
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a ) By using Hero’s formula, find the area of the triangular region when the lengths of its sides are 12cm, 13cm and 15cm. (5
marks)
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b ) Construct a rectangle ABCD when m AB = 3.1cmand mBC = 5.1 cm. (5 marks)

(#5)-mBC = 5.1cmsm AB = 3. 1cm.¢ /LABCDUE ©

Question No: 5
5/ Jlr
a ) Find the value of 4sin 45 X cos30 + cos45 X 2sin45 . (5 marks)
—Q’/(:L’”:A,’j (a
(#5)4sin45 x cos30 + cos4b x 2sin4b

b ) Construct a histogram of the following data. (5 marks)
Class Boundaries|5-1010-15/15-20/20-25

Frequency 25 20 |15 10

(A 5) b 25 Jeor L gy g0
s $Flz 15-1010-15/15-2020-25
b 25 20 15 10




